CHM151 Quiz6B  25Pts Spring 2010 Name: Keyﬁ/-

****SHOW ALL WORK TO RECEIVE CREDIT****

1. (6 Pts) The heats of formation, AH¢ in are shown in the table. What is AH in kJ for the reaction

2C,H, + 50,(g) = 4COy(g) + 2H,0(q) AH=7?

aH Values (ki/mole) :  CyHag) +227, H,0(g) 242,  CO,(g) —393

DHrgw = 20 ARpredecte = N4l recctut,

[1(-3%) + 2(-249) - [22aD+ § @]

2. (6 Pts) Calculate the enthalpy (AH)for the combustion of ethane, using the three equations given

Goal:  GiH(g) + 20,(8) > 2COs(g) + 3H,0()

I Hyg) + /20,09 — H,0p AHO= 286 ki
2 CaHaf) + Hale) = CoHe(a) AHO= -137k/
3 CyHylg) +30(g) = 2COy(g) + 2H,01)  AHO=-1412 kI Al R\)’
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3. (6 Pts) Calculate the heat of formation of SO5(g).  S(s) + 3/202 - SO0s(g)

| SOug) —> Oyg) + S(s) AH = +300 k!
2 250,(g) + Oy(g) —> 2503(g) AH=-200kJ
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4. (6 Pts) A 10.0 g sample of silver is heated to 100.0 °C and then added to 20.0 g of water at 23.0 °C in an insulated

calorimeter. At thermal equilibrium the temperature of the system was measured as 25.0 °C. What is the specific heat of
silver? The specific heat of water is 4.184 J/g«°C.
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